BOARD OF PUBLIC WORKS

City of Kaukauna **Council Chambers** Municipal Services Building 144 W. Second Street, Kaukauna



Wednesday, April 03, 2024 at 5:30 PM

AGENDA

In-Person

- 1. Correspondence.
- 2. Discussion Topics.
 - a. Recommendation to award Project 1-24 Concrete Street Paving Project.
 - b. Sidewalk Builders License to Dan Verbeten.
 - c. Public Works Update.
- 3. Adjourn.

NOTICES

Notice is hereby given that a majority of the City Council will be present at the meeting of the Board of Public Works meeting scheduled for Wednesday, April 3, 2024 at 6:00 P.M. to gather information about a subject over which they have decision making responsibility.

IF REQUESTED THREE (3) DAYS PRIOR TO THE MEETING, A SIGN LANGUAGE INTERPRETER WILL BE MADE AVAILABLE AT NO CHARGE.



City of Kaukauna Board of Public Works jn/engr dept

April 3, 2024

Agenda Item # 2a Recommendation to award Project 1-24 Concrete Street Paving Project

Background

The Engineering Department has reviewed the bids from three contractors, received on March 27th, 2024, at 4:00PM for the 1-24 Concrete Street Paving Project. The Engineering Department also created an engineer's estimate prior to bid opening. A project area map is shown below.

Review

The Engineering Department has compared the three received bids against each other, and the engineers estimate. All three bids were under the engineer's estimate, which is an indication that the received bids are reasonable and competitive. The bids themselves are within \$250,000 of each other which is another good indication that they are competitive. Attached is a bid tabulation showing the unit pricing differences between the received bids.

Staff Recommendation

Award Project 1-24 Concrete Street Paving to Vinton Construction Company for a total bid price of \$2,081,269.59.



BID TABULATION 3/27/2024 PROJECT 1-24 CONCRETE STREET PAVING

RECONSTRUCTION STREETS EIGHTH STREET, NINTH STREET, TENTH STREET, QUINNEY AVENUE, METOXEN AVENUE, SPRING STREET

					ton Construction Wo Rivers, WI		Bowers and Sons Kaukauna, WI	Zignego Company Waukesha, Wl	
A1	DESCRIPTION 6' Plain concrete pavement; Furnish and install 16,920 square yards, more or less, all complete for:	QNTY 16920	UNITS	UNIT PRICE \$40.79	TOTAL PRICE \$690,166.80	UNIT PRICE \$40.79	TOTAL PRICE \$690,166.80	UNIT PRICE \$48.66	TOTAL PRICE \$823,327.20
A2	Fine grading for concrete pavement; Furnish 16,920 square yards, more or less, all complete for:	16920	SY	\$3.00	\$50,760.00	\$3.00	\$50,760.00	\$1.00	\$16,920.00
A3	Full depth saw cutting; Furnish 120 lineal feet, more or less, all complete for:	120	LF	\$3.00	\$360.00	\$3.00	\$360.00	\$8.35	\$1,002.00
A4	Pavement GAP; furnish and install, 2 each, more or less, all complete for:	2	EA	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00
A5	Removal of Miscellaneous Concrete Street; Furnish and install, 10 SY, more or less, all complete for:	10	SY	\$20.00	\$200.00	\$10.00	\$100.00	\$15.00	\$150.00
A6	HMA 2" Surface Course - 4LT 58-34S, Furnish and install, 120SY, more or less, all complete for	120	SY	\$32.83	\$3,939.60	\$32.50	\$3,900.00	\$32.50	\$3,900.00
A7	HMA 2.25" Surface Course - 3LT 58-34S, Furnish and install, 40 SY, more or less, all complete for	40	SY	\$55.75	\$2,230.00	\$55.25	\$2,210.00	\$55.25	\$2,210.00
A8	HMA 1.75" Surface Course - 4LT 58-34S, Furnish and install, 40 SY, more or less, all complete for.	40	SY	\$31.82	\$1,272.80	\$31.50	\$1,260.00	\$31.50	\$1,260.00
A9	4" concrete sidewalk; Furnish and install, 4100 square feet, more or less , all complete for:	4100	SF						
A10	Remove & Replace 4" concrete sidewalk; Furnish and install, 11000 square feet, more or less , all complete for:	11000	SF	\$6.08	\$24,928.00	\$5.50	\$22,550.00	\$6.65	\$27,265.00
A11	6" concrete sidewalk and driveway apron; Furnish and install, 1600 square feet, more or less,	1600	SF	\$7.08	\$77,880.00	\$6.50	\$71,500.00	\$8.55	\$94,050.00
A12	all complete for: Remove & Replace 6" concrete sidewalk and driveway apron; Furnish and install,9,800 square	9800	SF	\$7.60	\$12,160.00	\$6.00	\$9,600.00	\$7.85	\$12,560.00
A13	feet, more or less, all complete for: Remove & Replace 6° concrete curb ramp; Furnish and install, 1990 square feet, more or less,	1990	SF	\$7.60	\$74,480.00	\$7.00	\$68,600.00	\$8.55	\$83,790.00
A14	all complete for: 30° Concrete Curb and Gutter; furnish and install, 30 lineal feet, more or less, all complete for:	30	LF	\$8.58	\$17,074.20	\$7.50	\$14,925.00	\$8.80	\$17,512.00
A15	Detectable warning fields; Furnish and install, 36 each, more or less, all complete for:	36	EA	\$45.00	\$1,350.00	\$45.00	\$1,350.00	\$75.00	\$2,250.00
	4" Epoxy Parking Line Paint, Yellow, Furnish and install, 480 lineal feet, more or less, all			\$320.00	\$11,520.00	\$350.00	\$12,600.00	\$425.00	\$15,300.00
A16	complete for:	480	LF	\$6.25	\$3,000.00	\$6.25	\$3,000.00	\$6.25	\$3,000.00
A17	Furnish pavement marking (Curb, Epoxy), 450 lineal feet, more or less, all complete for: Marking Stop Line Epoxy 18-inch; Furnish and install, 30 lineal feet, more or less, all complete	60	LF	\$8.75	\$525.00	\$8.75	\$525.00	\$8.75	\$525.00
A18	Marking Crosswalk Epoxy Transverse Line 6-inch; Furnish and install, 60 lineal feet, more or	30	LF	\$17.00	\$510.00	\$17.00	\$510.00	\$17.00	\$510.00
A19	less, all complete for:	60	LF	\$13.00	\$780.00	\$13.00	\$780.00	\$13.00	\$780.00
A20	Connect to Existing Pavement; Furnish and install, 5 each, more or less, all complete for:	5	EA	\$750.00	\$3,750.00	\$750.00	\$3,750.00	\$1.00	\$5.00
A21	Unclassified Excavation (12,600 CY); Furnish, one lump sum, all complete for:	1	LS	\$48,000.00	\$48,000.00	\$189,000.00	\$189,000.00	\$130,000.00	\$130,000.00
A22	Unclassified fill; Furnish and install, one lump sum all complete for:	1	LS	\$17,000.00	\$17,000.00	\$0.01	\$0.01	\$15,000.00	\$15,000.00
A23	Excavation Below Subgrade (5" Breaker Run); Furnish and install 100 CY, more or less, all complete for:	100	CY	\$49.00	\$4,900.00	\$40.00	\$4,000.00	\$34.00	\$3,400.00
A24	Geotextile fabric, Type SAS; Furnish and install, 18850 square yards, more or less, all complete for:	18850	SY	\$1.70	\$32,045.00	\$1.75	\$32,987.50	\$1.60	\$30,160.00
A25	6" of 1 1/4" Base Coarse Material over 6" of 3" Breaker Course; Furnish and install 18,850 SY, more or less, all complete for:	18850	SY	\$7.24	\$136,474.00	\$8.80	\$165,880.00	\$8.25	\$155,512.50
A26	Manhole Adjustments; Furnish, 13 each, more or less, all complete for:	13	EA	\$250.00	\$3,250.00	\$250.00	\$3,250.00	\$750.00	\$9,750.00
A27	Inlet Adjustments; Furnish, 2 each, more or less, all complete for:	2	EA	\$250.00	\$500.00	\$250.00	\$500.00	\$750.00	\$1,500.00
A28	Sanitary manhole Cretex Classic Internal Chimney Seals; Furnish and Install, 12 each, more or less, all complete for:	12	EA	\$425.00	\$5,100.00	\$500.00	\$6,000.00	\$675.00	\$8,100.00
A29	Sanitary manhole Cretex LSS Internal Chimney Seals w/middle bands; Furnish and Install, 1 each, more or less, of , all complete for:	1	EA	\$520.00	\$520.00	\$750.00	\$750.00	\$980.00	\$980.00
A30	Silt Fence; Furnish and install, 900 LF, more or less, all complete for:	900	LF	\$2.50	\$2,250.00	\$2.00	\$1,800.00	\$2.26	\$2,034.00
A31	Furnish and Install Medium Riprap, 20 CY, more or less, all complete for:	20	СҮ	\$110.00	\$2,200.00	\$35.00	\$700.00	\$70.00	\$1,400.00
A32	Type D-HR Inlet Protection; Furnish and install, 31 each, more or less, all complete for:	31	EA						
A33	4" PVC storm sewer laterals; Furnish and install, 2900 lineal feet, more or less, all complete	2900	LF	\$125.00	\$3,875.00	\$100.00	\$3,100.00	\$120.00	\$3,720.00
A34	107: 6" Perforated PVC storm sewer, Furnish and install, 40 lineal feet, more or less, all complete	40	LF	\$51.30	\$148,770.00	\$65.00	\$188,500.00	\$54.75	\$158,775.00
A35	for: 8" Perforated PVC storm sewer; Furnish and install, 350 lineal feet, more or less, all complete	350	LF	\$49.10	\$1,964.00	\$70.00	\$2,800.00	\$56.50	\$2,260.00
A36a	for: 12" Perforated PVC storm sewer; Furnish and install, 3200 lineal feet, more or less, all	1911	LF	\$51.40	\$17,990.00	\$75.00	\$26,250.00	\$69.50	\$24,325.00
A36b	complete for: 12° PVC storm sewer; Furnish and install, 3200 lineal feet, more or less, all complete for:		LF	\$73.45	\$140,362.95	\$76.00	\$145,236.00	\$71.45	\$136,540.95
		1289		\$72.75	\$93,774.75	\$76.00	\$97,964.00	\$74.35	\$95,837.15
A37	12" RCP storm sewer, Type , Furnish and install 40 linear feet, more or less, all complete for:	40	LF	\$68.60	\$2,744.00	\$86.00	\$3,440.00	\$76.50	\$3,060.00
A38	15" PVC storm sewer; Furnish and install, 330 lineal feet, more or less, all complete for:	330	LF	\$98.70	\$32,571.00	\$80.00	\$26,400.00	\$102.00	\$33,660.00
A39	Install 10 LF- 4 inch underdrains, Furnish and install 43 each, more or less, all complete for:	43	EA	\$295.00	\$12,685.00	\$110.00	\$4,730.00	\$500.00	\$21,500.00
A40	Abandon 12" Storm Sewer ,Furnish and install 520 linear feet, more or less, all complete for:	520	LF	\$7.60	\$3,952.00	\$15.00	\$7,800.00	\$14.00	\$7,280.00
A41	Remove Catch Basin Structures, Furnish and install 3 each, more or less, all complete for:	3	EA	\$285.00	\$855.00	\$500.00	\$1,500.00	\$455.00	\$1,365.00
A42	Remove Storm Manhole Structures, Furnish and install 3 each, more or less, all complete for:	3	EA	\$375.00	\$1,125.00	\$750.00	\$2,250.00	\$500.00	\$1,500.00
A43	Abandon 12' deep, 20' X 20' underground vault, 1 Lump Sum, more or less, all complete for:	1	EA	\$8,000.00	\$8,000.00	\$1,500.00	\$1,500.00	\$23,600.00	\$23,600.00
A44	48° diameter storm sewer manhole; Furnish and install, 80 vertical feet, more or less, all complete for: Beamane 8: Declara 48° diameter storm source manhole; Euroich and install. 7 vertical feet	80	VF	\$725.70	\$58,056.00	\$600.00	\$48,000.00	\$785.00	\$62,800.00
A45	Remove & Replace 48" diameter storm sewer manhole; Furnish and install, 7 vertical feet, more or less, all complete for:	7	VF	\$725.70	\$5,079.90	\$600.00	\$4,200.00	\$710.00	\$4,970.00
A46	2'X3' catch basin inlet with poured bottom; Furnish and install, 160 vertical feet, more or less, all complete for:	160	VF	\$699.20	\$111,872.00	\$620.00	\$99,200.00	\$755.00	\$120,800.00
A47	Remove & Replace 2'x3' catch basin inlet with poured bottom; Furnish and install, 16 vertical feet, more or less, all complete for:	16	VF	\$646.00	\$10,336.00	\$620.00	\$9,920.00	\$915.00	\$14,640.00
A48	Connect to Existing Storm Sewer; Furnish and install, 4 each, more or less, all complete for:	4	EA	\$505.00	\$2,020.00	\$1,000.00	\$4,000.00	\$930.00	\$3,720.00
A49	Sewer Main Televising, Furnish 3920 linear feet, more or less, all complete for:	3920	LF	\$0.98	\$3,841.60	\$1.00	\$3,920.00	\$1.05	\$4,116.00
A50	Turf Restoration; Furnish and install, 8800 square yards, more or less, all complete for:	8800	SY	\$7.95	\$69,960.00	\$7.50	\$66,000.00	\$7.50	\$66,000.00
A51	Tree & Stump Removal; Furnish 800 inch diameter, more or less, all complete for:	800	Inch Dia.	\$45.00	\$36,000.00	\$55.00	\$44,000.00	\$38.22	\$30,576.00
A52	Stump Removal; Furnish 600 inch diameter, more or less, all complete for:	600	Inch Dia.	\$1.00	\$600.00	\$20.00	\$12,000.00	\$6.43	\$3,858.00
A53	Bush Removal; Furnish 20 each, more or less, all complete for :	20	EA	\$5.00	\$100.00	\$75.00	\$1,500.00	\$12.48	\$249.60
A54	Install V-Lok Post Anchors; furnish and install, 2 each, more or less, all complete for:	2	EA	\$350.00	\$700.00	\$200.00	\$400.00	\$230.00	\$460.00
A55	Furnish construction staking, one lump sum, all complete for:	1	LS						
				\$16,909.99	\$16,909.99	\$20,000.00	\$20,000.00	\$16,910.00	\$16,910.00
A56	Furnish mobilization of all necessary equipment, one lump sum, all complete for:	1	LS	650 505	653 500 55	AFF 005	AFF 000	611 100	644 400
A56 A57	Furnish mobilization of all necessary equipment, one lump sum, all complete for: Furnish traffic control, one lump sum, all complete for:	1	LS	\$53,500.00 \$10,500.00	\$53,500.00	\$55,000.00 \$16,500.00	\$55,000.00	\$11,100.00 \$10,500.00	\$11,100.00

APPLICATION FOR SIDEWALK BUILDERS LICENSE CITY OF KAUKAUNA

FEE - \$15.00	
BUSINESS NAME DAN VER bi	FTEN CONST
	KAUKAUNA WIT 54130
CONTACT PERSON DAN VER	
PHONE #	

BOND - \$5,000

Each applicant shall deposit with his application a fee of \$15.00 and before such license is issued shall furnish a bond in the sum of \$5,000 conditioned that he will observe and obey all requirements of the City relating to the construction of sidewalks, and that he will indemnify the City or any person in front of whose property he constructs a sidewalk against loss by reason of his failure to observe all of the requirements of the City or of the grade and line furnished by the City Engineer. The bond shall also support the guarantee of the sidewalk builder that he will rebuild, replace, restore, or repair any imperfect work or defective walk construction within one year from the time of completion by such applicant.

Requested INSURANCE

Workmen compensation and property damage and public liability insurance shall be kept in force during the construction period, including preliminary work and follow-up. <u>Property</u> <u>damage insurance</u> shall not be less than <u>\$20,000</u> and <u>public liability insurance</u> not less than <u>\$50,000</u>. A certificate showing such coverage shall be filed with the City Clerk/Treasurer before construction is begun.

re derbitere

Signature

3-27-24 Date

Kaukauna Municipal Code Public Works 8.05 (3) (a) & (b)

Return completed form and payment to:

Clerk/Treasurer's Office City of Kaukauna 144 W. 2nd Street P.O. Box 890 Kaukauna WI 54130-0890

2/2020

Item 2.b

COMPANIES



Western Surety Company

STERN SURETY COMPANY . ONE OF AMERICA'S OLDEST BONDINC

CONTINUATION CERTIFICATE

WESTERN SURETY COMPANY

By ____

Larry Kasten, Vice President

THIS "Continuation Certificate" MUST BE FILED WITH THE ABOVE BOND.

WESTERN SURETY COMPANY . ONE OF AMERICA'S OLDEST BONDING

Form 90-A-6-2023

Western Surety Company

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS:

That WESTERN SURETY COMPANY, a corporation organized and existing under the laws of the State of South Dakota, and authorized and licensed to do business in the States of Alabama, Alaska, Arizona, Arkansas, California, Colorado, Connecticut, Delaware, District of Columbia, Florida, Georgia, Hawaii, Idaho, Illinois, Indiana, Iowa, Kansas, Kentucky, Louisiana, Maine, Maryland, Massachusetts, Michigan, Minnesota, Mississippi, Missouri, Montana, Nebraska, Nevada, New Hampshire, New Jersey, New Mexico, New York, North Carolina, North Dakota, Ohio, Oklahoma, Oregon, Pennsylvania, Rhode Island, South Carolina, South Dakota, Tennessee, Texas, Utah, Vermont, Virginia, Washington, West Virginia, Wisconsin, Wyoming, and the United States of America, does hereby make, constitute and appoint

	Larry Kasten	of	Sioux Falls	
State of	South Dakota	, its regularly elected	Vice President	3
as Attorney-in-Fac	t, with full power and a	uthority hereby conferred upon hi	m to sign execute	ooknowledge and blift f

and on its behalf as Surety and as its act and deed, the following bond:

One <u>SIDEWALKS CITY OF KAUKAUNA</u>

bond with bond number ______41433965

for <u>DANIEL VERBETEN CONSTRUCTION</u>

as Principal in the penalty amount not to exceed: \$5,000.00

Western Surety Company further certifies that the following is a true and exact copy of Section 7 of the by-laws of Western Surety Company duly adopted and now in force, to-wit:

Section 7. All bonds, policies, undertakings, Powers of Attorney, or other obligations of the corporation shall be executed in the corporate name of the Company by the President, Secretary, any Assistant Secretary, Treasurer, or any Vice President, or by such other officers as the Board of Directors may authorize. The President, any Vice President, Secretary, any Assistant Secretary, any Assistant Secretary, any Assistant Secretary, any Assistant Secretary, or the Treasurer may appoint Attorneys-in-Fact or agents who shall have authority to issue bonds, policies, or undertakings in the name of the Company. The corporate seal is not necessary for the validity of any bonds, policies, undertakings, Powers of Attorney or other obligations of the corporation. The signature of any such officer and the corporate seal may be printed by facsimile.

This Power of Attorney may be signed by digital signature and sealed by a digital or otherwise electronic-formatted corporate seal under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 27th day of April, 2022:

"RESOLVED: That it is in the best interest of the Company to periodically ratify and confirm any corporate documents signed by digital signatures and to ratify and confirm the use of a digital or otherwise electronic-formatted corporate seal, each to be considered the act and deed of the Company."

In Witness Whereof, the said WESTERN SURETY COMPANY has caused these presents to be executed by its Vice President _____ with the corporate seal affixed this ____22nd ___ day of ____February _____, __2024

ATTEST Render	W SOOOL W	ESTERN SUR	ETY COMPANY
L. Bauder, Assis	stant Secretary		Larry Kasten, Vice President
STATE OF SOUTH DAKOTA COUNTY OF MINNEHAHA			
On this <u>22nd</u> day of <u>Februa</u> Larry Kasten	ary , <u>2024</u>	_, before me, a Notary L. Bauder	Public, personally appeared
who, being by me duly sworn, acknowledged	that they signed the above P	ower of Attorney as	Vice President
and Assistant Secretary, respectively, of the	said WESTERN SURETY C	OMPANY, and ackno	wledged said instrument to
be the voluntary act and deed of said Corpora S. GREEN	ition.		
SEAL NOTARY PUBLIC SOUTH DAKOTA		S. tue	Notary Public
To validate bond authenticity, go to	My Commission Expires Fe		· · · · · · · · · · · ·

ty, go to <u>www.cnasurety.com</u> > Owner/Obligee Services > Validate Bond

Coverage. Form F9701

6

ACORD	

CERTIFICATE OF LIABILITY INSURANCE

DATE (MN Item 2.b.

						3/	27/2024		
THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.									
IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on									
	his certificate does not confer rights to the certificate holder in lier		NTACT).					
	oducer Isay & Associates, LLC.	NA	ME: Ann Allen		FAX				
43	51 W College Ave	(A/0	ONE <u>C, No, Ext):</u> 920-560 MAIL	0-7000	(A/C, No)	<u>: 920-56</u>	0-7079		
	lite 310	ADI	DRESS: Ann.Aller	@ansay.com	1		1		
Ар	pleton WI 54914		INS	URER(S) AFFOR	DING COVERAGE		NAIC #		
		-	SURER A : Integrity	Insurance Co	ompany		14303		
	ured DAN aniel L Verbeten	ILVE-01 INS	URER B :						
	1 Lawe Street	INS	URER C :						
	aukauna WI 54130	INS	URER D :						
		INS	URER E :						
		INS	URER F :						
СО	VERAGES CERTIFICATE NUMBER: 511598	3463			REVISION NUMBER:				
THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.									
INSR	ADDLSUBR		POLICY EFF	POLICY EXP	LIMI	 TS			
LTR A	TYPE OF INSURANCE INSD WVD POLICY NUM X COMMERCIAL GENERAL LIABILITY CPP2870951	IDER	(MM/DD/YYYY) 3/15/2024	(MM/DD/YYYY) 3/15/2025	EACH OCCURRENCE	\$ 1,000	000		
	CLAIMS-MADE X OCCUR				DAMAGE TO RENTED	\$ 300,0			
					PREMISES (Ea occurrence)	\$ 10,00			
					MED EXP (Any one person)	\$ 1,000			
	GEN'L AGGREGATE LIMIT APPLIES PER:				PERSONAL & ADV INJURY GENERAL AGGREGATE	\$ 2,000			
							-		
					PRODUCTS - COMP/OP AGG	\$ 2,000	1,000		
А	OTHER: CA 2870952		3/15/2024	3/15/2025	COMBINED SINGLE LIMIT	\$ 1,000	000		
~	ANY AUTO		3/13/2024	5/15/2025	(Ea accident) BODILY INJURY (Per person)	\$			
	OWNED				BODILY INJURY (Per accident				
	Y HIRED Y NON-OWNED				PROPERTY DAMAGE (Per accident)) \$ \$			
	AUTOS ONLY AUTOS ONLY				(Per accident)	\$			
					EACH OCCURRENCE	\$			
					AGGREGATE	\$			
Δ	DED RETENTION\$ WORKERS COMPENSATION WCP2870957		3/15/2024	3/15/2025	Y PER OTH-	\$			
~	AND EMPLOYERS' LIABILITY Y/N		3/13/2024	5/15/2025	X PER OTH- STATUTE ER	- 100 (
	ANYPROPRIETOR/PARTNER/EXECUTIVE N/A				E.L. EACH ACCIDENT	\$ 100,0			
	(Mandatory in NH)				E.L. DISEASE - EA EMPLOYEI				
	DÉSCRIPTION OF OPERATIONS below				E.L. DISEASE - POLICY LIMIT	\$ 500,0	00		
DEC		Cohedul	av ha attache d'I'			<u> </u>			
DES	CRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks	Schedule, m	ay be attached if more	e space is require	ea)				
CE	RTIFICATE HOLDER	CA	ANCELLATION						
	City of Kaukauna 144 W 2nd St.	1	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.						
	Kaukauna WI 54130	THORIZED REPRESE	NTATIVE						
	USA		0 0	1 1					
		6	ann allen						

The ACORD name and logo are registered marks of ACORD

© 1988-2015 ACORD CORPORATION. All rights reserved.